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o INSTRUCTIONS

Answer all questions.

All questions carry equal marks.

Only ore answer is to be given lor each question.

If more than ane answers are marked, it would be treated as wrong answer.

Each Guestion has four alternative responses marked ‘serially as 1, 2, 3, 4. You have to datken only one

circle or bubble indicating the correct dnswer on the Answer Sheet using BLUE BALL POINT PEN.

1/3 part of the mark(s) of each gquestion will be deducted for each wrony answer. (A wrong answer

means an incorrect answer ©f more than one answers for any question. Leaving all the relevant circles or

bubbles of any question blank will not be considered as wrong answer.)

The candidate should ensure that Series Code of the Question Paper Booklet and Answer Shest must be

same after opening the envelopes. In case they are different, a candidate must obtain another Question

Paper of the. same series. Candidate himself shall be responsible for ensuring this.

Mobile Phone or any other elactronic gadget in the examination hall is stricty prohibited. A candidate found

with any of such objectionable material with him/her will be strictly deall as per mles.:

Please correctly fill your Roll Number in O.M.R. Sheet. 5 marks will be deducted for filing wrong or

incompiste Roll Number.

Warning : It a candidate is found copying or if any unauthorised material is found in his/her possession,
F.\.A. would be lodged against him/hér in the Police Station and ha/she would liable to be prosecuted
under Section 3 of the R.P.E. (Pravention of Unfairmeans) Act, 1882. Commission may also.
debar him/her parmanently from all future examinations of the Commission.
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1 For positive integers @ and & ged (a,b) lom (a,b) equals -

M a+s ' ) ab

@ ams @

SN

m THE o 7 5 o gcd(a,b)]cm(.q,b) e % | |
() a+d | @ ab |

o &

"B) a-b | )

2 If p25 is a prime number then p2 +2
(1) is always composite
(2) is always prime
(3) can be prime or composite

(4) is always even _

M p25 @ evew wem oo p?+2
(1) #ow 9w ¥

(2) W ey %

(3) W Sl ST § gt

@ W

3 Square 6f any integer can be of the. form

(1) 3% only, % is‘an integer '
(2) @Gk+rD) only, £ is an integer
(3) 3kor (34+1), k is an integer

(4 (Bkt2), & isl an integerl
Reet quis % o @ wy e

() W 3%, kT g ¥
(2) AW (3k+1), & ©F quls &
(3) 3k srEET (3k+1), £ T TUifE %
(4)  (3k+2), k um T &

A i e



4 32n+i +2n+2 is divisible by ' o
n 2z - - 2) 3

3y 7 . (# no integer

32ntl L ont+2  qrog ¥ _ | '

O . e 3x
ORA I @ ﬁ?@rw‘iﬁﬁ%ﬂﬂ

5 If @ and b are prime to each other then a —ab+b2 and a+b have
. a common factor

m s @ 3

3) 2 o @
u&aabmm%a‘ra—abwzamb mwwaﬁ?s%
M 5 @3

¢ 2 | "'__'--'.”;(4) 1

6 If a>1 and nis a p051t1ve mteger ‘then &" is -

(1) =1+n(a-1) ;-_'.(2_)-' <1+n(a l) | |
G) <lima=) @ >1+n(a )y
El‘ﬁ:’a>1ﬁn@ﬂ*ﬂﬂ${"ﬂ$%?ﬁa S

(1)  =l+n(a-1) - @ S1+n(a- 1)-_ o

3) <1+n_(a—1) . ) _'(4). >1+n(a- ,1)

7 If p is a prime and p:az_—-b_z then |
W a=(p) o=(p-1) @ a=3(p+1) b=5(p-1)
! P R DRI PR
(3) a:'_;;(P'*”l)s b=.§-(P+1) ) ":E(P'”.)a-b-#z(l’—.l)

o p um owwd ¥ T p=a’-b B, @

M a=(p+1). b=(p-1) @ _a=12(p+1),b$§(p;—l)
1 l, . . 1 1
@) a=5(p+1) b=3(p+l) @) a=z(p+_1).,b=z_(p—1)

Al | SR A N (Coned-..



8

10

H.CF. of (3x3.+;c_+4) and (2x3—x2+3)l is

1y (3x-1) | 2) (3x+1)

(3)  (x-1) ‘ @ (x+1)
(3x3+x+4) o (2&3 ¥ +3) w1 o W &
I (3x-1) o (2> (3x+1)

(3) (x——l) . (4) (x+1)

If (4x4—.(a—l)x3 +ax? —-6x+1) is divisible by (2x-1) then a equal

1y 13 2 9
3) s @ 2

fr (4x4 —(cf—l)x3+c.rx2 —6x+1), (2x-1) q 99 & @ o &7 3

M 13 - @ 9
(3) 5. _ ' 4 2

) ) . ! 3 .
If _f(x)=6x3 +4x? +3x+2, then the value of f("") is

2
| 55 55
o - @ -7
19 19
® - @
- -y
A f(x)=6x7 +4x% 43042 W f[_EJ B AN B
- 55 55
(D T _ 2) 7
19 ' 19
® -7 @ 7

45.4] o UMM (Conta.



i1 Polynomial 2x°> rx?—5r-3 expressed as polynomial in (x-2) is

| (1). 2(x—2)° +13(x—-2)% ~23(x-2)+6

@ 2(x-2)° —13(x—2)> —23(x-2)+8

G) 2(x-2)° +13(x-2)® +23(x-2)+7

@ 2_(x-;2)3 —13(x=2)% +23(x—2)+8

g9 2x3{x2—'5_x—3 & (x-2) %:‘Hhagcrq' d gm

M 2(x—2)3-+i3(x—2)2 23(x~2)+6

@ 2(x-2)’ -13(x-2)? -23(x—2)+8

G)  2(x-2) +13(x-2)° +23(x—i)+7

@  2(x-2)° —13(x-—2)2 +23(}—2)+8

12 The values of a, » and ¢ for which

2%x2 —Sx—lEa(x+I)(x_—2)+b(x——2)(x—1)+c(x—1)(x+1) are
(1) a=-2, b=1, c=1 | |
@ a=2, b=-1, c=-1

(3) a=-2, b=-1, c=1

@) a=2,b=1c=-1

a, bac¥% AT R R
2x2 —5x—1=a(e+1)(x=2)+b(x=2)(x~1)+c(x~1)(x+1) ¥
(1) a=-2, b=1, c=1 |

2) a=2,b=-1,c=-1

(3) a=-2, b=-1, c=1

@) a=2, b=1, c=-1

43 A 5 AIEN  1Coned...



13 The value of n>1 for-which nl+(n+1)!+(n+2)! is a perfect square is

W @ 4
®) 2 @ |
n21 W T AW f%ma; oy n'+(n+l)|+(n+2) wF mf o ¥, ¥
W @ 4 |
® 2 @

14" “Number 1571724 is not divisible by which of the following numbers ?

Q) 4 | @ 6
ol 8 - @
wm 1571724ﬁwmaﬁﬁﬁﬁm’rmwa€r% ?
W 4 @ s
& s @

- 15 3 (y-z)+ }',3"-(2_',:)”3 (3~ y) is factorized as
LW (-2 x-p)xryra)
@ ey
O Oy
@ (e
B (-2) 2 (=22 (x-y) B T W b
GRS B
@ e (x )
®) ~(r=)e-x)(-)(r-r+z)
@ =(y-2)(z=x)(3-y)(5+y-2)
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16  be(b—c)+ca(c—a)+ab(a-b) equals
(1) (be)cra)(a+h) @ ~(b-c)(c-a)(a-b)
| 3) -(b+c)(c+a)(a+b) @ (f;—c)(c-aj_(a—b)
bc(b-c)+ca(c;a)-+ab(a-_b) — |
) (reraart) @ B-c)e-a)(a-b)

(3) -(b+c)(c+a){a+b) _(4)_ (b—c)(c~a)(a=b)

17 - If the ratio of the roots of the equation ax? +bx+c=0 .is p.q then
(1) quz =.ac(p+q)2 ' ) pqac=b2(p+q)2
€)) pQ(?+q.)2 =5250 (4) p2q* (p+q)=a’c’h
'q‘f&.ﬂﬁ'ch_{ﬂ ax? +bx+c=0 % ww 'IEFI FgUE pig WA
(1) | qu?‘ =ac(é+q)2 ' () quczbz (P"*'Q).z

@) pa(p+q)’ =b’ac @  p2¢*(p+g)=a’c?h

18 If ge R then the roots of the equation x2 +ax-1=0 will be
(1) real and equal o (2) real and unequal
(3) rational and equal .‘ (4) imaginary

Iy aeR, ?ﬁ TNHEO 22 +ax~1=0 & T B
(1) IS 9 = () aRE 9 S
@) g g s . 4) FEtE
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19  Roots of the equation 3xx? = 4{dx—1) will be real and équal if A equals

1 3 | @2 -3or-5

@ 5oz - @ w5 or o5

Hﬁmnxzﬂ(ix—l)%aﬁimﬁﬁawﬁéﬁuﬁkw% |
wm s @ 3w-s T
0 A LB " @ -5 _;

20 The equation /3x+1 +1=+/x has

(1) inﬁ-nite roots : (2) one root
(3) two unequal roots . (4 no root
- IR Bx+] +1=Ax &
(1) o= 9@ & @ R
() @ omET W ¥ (4) @ @ T %

| S o (B
21 If o,B are the roots of the equation xz—px+q=0, then J%*‘J;

- equals
2
p L.
m = | o 7
2 .
' P L
o5 o

afg &,B whe xX - pr+g=0, F qw ¥ @ J%ﬂjg R LIEE

1 L 2 £

(1) 7 @ g '
- p

3) 3—;}' (4) l/;

.41 s e



22 If for the equation ax?® +bx+¢ =0, the sum of roots equals the sum of
their squares, then

)] 02=a2+bz (2) a+b=a2+b2
(3) 2ac=ab+c @ 2ac=b{a+b)

o T ax? 4 b+ =0 % Red, T A g il 37 A 3
3 | |

M c:2=az+b2 _ (2) a+b:a2+b2

G) 2ac=c.zb+c _ @) 2ac=bla+b)

23 The equation whose roots are squares of the roots of the équation

ax? +bx+c=0 will be

(1Y a2x2 4b2x+c? =0

(2) .:13:4+bx2 +c=0

3) az_x2 —(bz —Zac)x+c2 20

C)) 02x2 —(bz ~2ac)x+a2 =0

Tl fes I Wl ax’ +bx+be=0 F @ & o ¥, B
(1) azx2 ~i-b2x+c.2 =0

(2) ax4+3:'x2 +c=0

3) a’x? —(52 —2::zc)x+1::2 =0

(4) c?x? —(bz ~2ac)x+a2 =0

) | o TG



24  The roots of equafion abx? —(a?‘ +52 )x+ab50 will be

n 28

L 11
2) a’ b

(4) ab,

Q) o

Eﬁ’ﬁﬂ'ﬁ} abx? ---(ar2+b2 )x+ab=0 F G B

y 22
) b’ a

2)

12
1
25 10" term in the expansion of (sz +-—) will be
x

1160
1)
(1) 3
1760
3
) x>

1

(2} 1760 x3

@ 1076 ¢

12 ’ '
(2x2+;) % fowm ¥ 10 &f wT B

1160
1
Ol
' 1760
G
X

43 A] -,

(2) 17603

@ 1076 x3
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10
: 1
26 Middle term in the expansion of (x-_"ﬂJ will be

27 .

43 A]

@)

el x)
o 53

(1) @

63y
G) ;[ﬂ @

X

8
Y
3

The coefficients of 5th, 6 and 7% term in the expansion of (1+4)" are

in A.P. The value of 7 will be

1 7,14 (2) 6, 11

@) 8 15 (4) 8,16

(1+a)" & T & ofd, 8 o W trr:%ﬁ NI va.@r.- FE 1nw
LIS

(1) 7, 14 @) 6, 11

(3) 8,15 @) 8,16
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28 If (1+:x)” =¢Cq +clx+c2x2 Fo +cnx" then

CoC ¢ €y +CrC3 Foinnnn, +c, ¢, wil bé- equal to
PR )L o emy
o feo) ® Gy
. CL)l | o amr
S ) DR S A P Ty oY
.' AR (1+x)" =¢ +c13c+c:2.x2 RN @
o€ +¢1¢, 4;02034- ............ +c,_ ¢, WET &
2 | (2n)t
o o ® G
: (27)! | | - 2(n)
O (a2 | @ 1) (a1,

29 - In the expansion of (1+ x+x2) the coefficient of x® will be

() 9 ' @ 1
(3 3 - 4 3

__(1.+x+x2)_3 ® ﬁlﬁ'l'{ ¥ x® W e €

®» o @ 1
@) -3 @ 3

4.A1 - - T T



12
30 The term without x in the expansion of (sz -;) will be

79
O o o @) 79%2°
@) 792 ' @ 7920

12 ] :
[2x2-——1—] % mr ¥ x Wa wg W

X

79 L
M 0 _ (2) 79x2°
(3) 792 4) 7920

: 8
31 The sum of the coefficients in the expansion of _(1—-x5 ) will be

(1), © @) 28-1
3 28 ' ' @ 28+1
(1-x*) & wor ¥ o @1 A A

(1) 0O - @ 28-1
3) 28 @) 28+1

32 If in the expansion of (1+x)”, the sum of odd terms is 5 ‘and sum of

even terms is §,, then (812 —'Sg ) equals
(1) (x2—1)2 @) (1—x2 )"

3) (xz—l) | @ gn
ﬁ(lu)”%faﬁﬂﬁﬁwuﬁmuﬁ_s,q&wuﬁwm $5
& @ .(slz—sg) T & |

) (x2-1)2. | @) (1—x2)"

@ (-1 @ 2y

T I (Conto-



33 If (1+x)"=co+clx+czx2+ .............. +c,x", then the value of

((:1 +cq tes +) is
(1) o=l - 2) 2" _q
3B) o S @) gt
zrf? (1+x)" =g +Clx+02.x2 Foeeeeeanns +c,x" g
(cl+c3 tCq ¥ ' ) T:E["TFT %
(1) or-l ' 2y o7
(3) on (4) ontl
34 (1+x-i-x2 X3 )(1--x+x2 —x3 +) equals |
M t+x?+x* x4+ SR 2 S TS
-(3) I—x2 —x4 —x6 v “) 1—Jc—x3 -—xs —x7 e
(l+x+ x2 453 +) (1—x+x2 ~x +) TET 3
M 1+x?+xt x5+ @) 1wt xS
(3) | 1—:):2 —x4 ¥-x6 s 4 1---.::—3\:3 —x5 --x? — e
11 1 . -
35 If Xty 2y and Y4z are in AP, then X,Y,z are
(I) in AP {2) in GP.
(3) in HP ' (4) in none of the above
. A A @ ¥
x+y’ 2y Ytz .9 . X, ¥,z
() AP ® (@ GPH

() HP ¥ @) S fedr § W

4.4l B ~ |HANIE  tConta...
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37

38

®m 1 @

o 1 1 1
If arz,b2 ,c2 are in AP, then > ; are -
b+c c+a a+b -

(1) in AP ' (2) in GP.
(3) in HP. (4) not in-any particular serie§a »
1 |

afe az,bz,c2 E@I e

b+c c+a “a+bh

(1) AP ¥ ' @) GP #
(@) HP # @ TR o R o A e

If A, G and H are respec‘uvely AM GM. and HM. between two terms

a and b, then
(1) G>H>A_ 2 G>A>H
3 H>G>4 @ A>G>H

A A GT HA T ad b ¥ e wEw: AM, GM. @ HM. ¥ &

a1y G>H>A @ G>A>H
3) H>G>A @ A>G>H

If in an AP, the sum of first 10 terms is three times the sum of first five
terms then the ratio of common difference and first term is

1
2

. 1
(3) 3 “4) i

WAP%QWW@WWMHWW@%WW&@T

B‘r ?ﬁméwauanqaw\-ﬁqm%

(1 1 | ) 5

TN

. |
® 3 4)

A 15 MM - tcoped...
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39 Inan AP, m times the m term is equal to » times the # term. (m + m)th
term of this AP is ;

m+n 5 E .
m == @ -
o] i+.1_ ‘ )
() —+= @ 0

BH A T R W T, 4 R F 2T F WEC Y
T A W (mt+a)al ug % '

1 m+n E
W @ =
3 | 0
0 —+= @

40 1In an AP the ratio of 7 term to 3 term is 12 : 5. The ratio of its
13 term to 4t term will be

() 13:4 | . 2 10:3
3 41 - 4 3:1
wa.@r.ffqmﬁfamwzmaqmlz:s%lsa%ﬁmﬁ‘uaai?‘r&
'(1) 13 : 4 ) 10:3

3y 4:1 (4) o1

L¥]

41 Sum of all natural numbers between 200 and 400 which are divisible by

7 is
(1) 8730 - (2) 8729
(3) 8732 - (4) 8736
200 9 400 % 9 o wf gEmel, o 7 ¥ R 9 %, = 9 3
(1) 8730 | @) 8729 |
(3) 8732 | (4) 8736

43.4] e ~ {NGEA - (Contd...
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44

If the sum of first m terms of an A.P. is zero then the sum of » terms
will be, when first term is @ '

_ na{m+n) o na{(n—m).

O — @ T

a) na(m+n) @ na(n—m)
m—1 m-1

o el TA. F W m TS B A F A S 4 T BT AT T,
was WgT W a ¥ |

Q) nal(ir;n) : @ rrafi:nm)
a) ria}(nmﬂi n? @) naf::lm)

1 : :
#h term of an AP is 5(21‘?—1). The sum of its 18 terms will be

(1) 102 1 (2)' 119
(3)- 85 4) 108

T Td W ondl W -13-(2??—1) T oig® 9 & '18_-trcﬁ @1 AT S

(1) 102 | @) 119
(3) 85 (4) 108

1 - 1 |
The m™ term of an A.P. is P and 7t term is ot then its (mn)™ terms is

a 2) m”*;n'ln'

Gy 1 4 0

= 1 & 1 ~2r o)
ﬁﬁeﬁaér.zmmmqa;anmw;ﬁa‘rm(m:)muﬁ%

(1 o (2) mn+'$

3 1 4 0

43.Al 17 | AT 1Contd...
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In an AP the sum of its first (n+1) terms is (2n2 +4n+7) then its

nh term will be

(1) 3n-4 - (2) 4n-2
®) 3n+4 | @ 4n+2
RFR TR ¥ W (n+1) T @ AW (2n2+4_n+7) o sE n |
9T B

1) 3n-4 @ 4n—2

(3) 3n+4 4 4n+2

Square root of 2 is

(1) an integer (2) rational number
(3) irrational number (4) imaginary number
2 ®m T ¥

(1) w Tis @ dfdm den

(3) omidyg w@En (4) @t Yen

Ifin a GP. (p+¢)® term is m? and (p — ¢)™ term is #2 then ptf term is

m-n
(1) m-n _ @ -
O A, @

RICFE CBAL-TITE
i S

TH g.@r.}f'(p+q) Eﬁtﬁi M (p-q) AR AT D pai g B

: m—n
By m-n (2) —
(3) mn 4y mn

wAr - B MM~ (Contd...
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The sum of » terms of the Series ‘2'+Z+'8-+-}g+ will be
1 277 +(n-1) @ 2" +(n-1)

@) 277 @ 2" (n-1)+1

yon %+%+%+-1%+............. ¥ »n wel w1 o g\m

(1) 27" +(n-1) @ 27 +(n-1)

@ 277 @) 27 (n-1)+1

The first and (2n— D term of an AP, GP. ancl a HP are equal their
nh terms are respectively @, b, ¢ then

1 a=b=c 2y a+c=25b
@) azb>c 4) ac—b2=0-

wH AP, & GP. a@HP%uma(zn—l)é‘rqaw% |a=1aa

7o U W 4 b, c® @

) a=b=c ' @ a+c=b

() azbzc @) ac- b =0

If in a2 GP. the common ratio is #, last term is / and the sum is s, then
the first term is '

) Ir+(r-1)s @ r-(r-1)s
3 rs-(r-1)1 @ rs+{r-1)I

fFfl GP. @ wrderuE £ fem g /T W& & AW s W, A gUH W
EEF'IT

(1) Ir+(r-1)s @) HA-(r-1)s

(3) rs—{r-1)1  (4) rs+{r-1)I

a0 0w BT (Conto



. : 1
{ 1 i —Ft + Forriines i
51 The sum of mﬁmte terms of the series 2733734 will be
i) 0 | | ) 2
( . 2
| 3 1 | 4- E
(3) | @ 3
P U VU
R AW T ki
n o | 2 3
) @ 7
3 1 ' 4 i
©) @3

52 The ratio of HM. and GM. of two positive numbers is 4 : 5. The ratio
of numbers will be

Qn 2:3 @ 4:1

G) 4:3 o @ 4:5 |

? eE Wt § HM. 9 GM. & &9 4 : 5 § | ST HEmeit @
EREIR |

) 2:3 - @ 4:1

@) 4:3 __ @ 4:5

| :
53 Between - and 3, 4 AM.s are inserted. The sum of these inserted

2.
means is
FOREA @ s
3) 6 - @ 3

%@3%1@4&%9&@%&11& | 39yl R T ment @
o %
) 7 | @ 5

@) 6 3 8 :
AA] 20 - I (Contd...



54 If 1+sin26+sin49+sin66+ .............. =-;l(0<9<-12£] then @ equals

. | _ T

o 3 @

T i

® 5 @ 3
af¥ 1+sin? 9+sin49+sin69+..ﬂ..: ........ =:§-[0<9<—72£] T o 'H'H'H%

T T

Ol ® 3

14 T

3 7 @ 3

55 - If two AM.s 4, and 4, are inserted between a and b then 4 +4, will

1, 2 s
) la+d) @ Sla+b)-
o e @ @)

o aq b WA QA GAL A4 T A4, TRre Y W al A1+A2.€|1Tr |
| . 2 ‘
(1) 3la+d) | @ Fla+b)

o
@ la+d) @) (a+b)

e € RN Contd..
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57

58

’ 1
The Harmonic mean between p and —; is

2p . 2p
O 2 | 2 R
N 2 2
(3) - p? @) p? -1

1 .
pﬁ—;%ﬁqwmwmw%

2p 2p
M 2 ® 2
2 2
®) 1, | @

Three numbers whose sum is 18 are in A.P. If 2, 4, 11 are added respectively
they are in GP. The biggest number for positive common difference is

(1 9 | (2) 10
3 18 @) 22
= d=d R 9 18 ¥ w4 ﬁ%lsﬁa@m‘rﬁmﬂz4n
Gﬁ%ﬁwaepﬁsﬁr%laﬂwww%%&ma@rw%
1 9 (@) 10
(3) 18 . @) 22

-

Number- of diagonals in a #-sided polygon are

a n(n2—1) ) n(nz—B)
_(3) n(n2+1) @ 2

n e TR aEg A B @ e 3

0 n(n2-—1) - o n(nz—3)
o Mo @

$B5A] 22 (HITHNGKQ ~ LConed...



59 In how many ways can 7 men and 7 women be seated at a round table
so that no two men are next to each other ?

(1) 6!x5! @ (61)°

3) (7!) 4) o6!xT!

7Wa7nﬁﬁﬁwﬂaﬁﬁ%ﬂﬁaﬂt%ﬁm%%m%
%é‘fwwmazﬁﬁrﬁaﬁ ?

(1) 6!x5! @ (61

@) (1) @ exT

60 How many numbers greater than 1,000 but less than 4,000 can be formed
with the digits O, 1 2, 3, 4 when the repetition of digits is allowed 7.

1) 374 | @ 240
T El?slﬁﬁ GIEI%T A Eﬁ‘(ﬁ{?ﬁ & wad % ?
(1 374 (2) 240
3) 375 @) 625

61 In how many ways can 6 prizes be distributed among 5 boys when each
boy is eligible for any number of prizes ?

1) 30 @) 3125
3) 7776 @ 15625

6maﬁsa€ﬁﬁﬁmﬁmﬁmmm%aﬁmm
fea off 39w & W ¥ 2

(1) 30 , ‘ (2) 3125
3) 7776 B (4) 15625

BAL B (A (Contr..



62

63

64

- 65

A man has 7 friends. The number of ways of inviting one or more of -
them on a dinner are

(1) 128 Q) 127

() 64 (@) 63 .

ww Aed w7 R e  oite e e W W et s %
(1) 128 2) 127

(3) 64 “ 63

In a tournament 61 matches were played. If every team played with every
other team, the number of teams were

() 23 : _ (2). 13

(3) 12 4y 11 .

e wiEnfEr § 61 f9 WW ™ laﬁmmﬂwﬁn@r@ﬁ
B S & demr o

(1) 23 | 2 13

(3) 12 S @ 1

Number of triangles formed by joining 15 péinté when 7 of them are in
the same straight line, is'

(1) 455 (2) 420

3) 210 (4 315 :
15ﬁgaﬁﬁﬁﬁﬁ%aﬂﬁaﬁﬁgﬁﬁa%m aa%?%ngﬁé’fw
ar ¥ ¥, el

(1) 455 ' (2) 420

3) 210 - 4) 315

Number of words which can ‘be formed by the letters of the word
COMMITTEE are

9| ' 9l
M (27 @ (g
9l i
® 3 @ 9!
COMTTEEsm%maﬁaﬁﬁmmaﬁmﬁ sﬁ?ra?rw%
9l - 9!
ot _
(3) T @) 9

AL Bl (Coua



66

67"

68

69

if 20 C, 2OC 4 then "cy équals

Q) 28 | @) 35
3) 56 @ 112
A 20c, =2C,., TG T ¥
1 28 | @ 3
® 56 @ 112

Number ‘of numbers, that can Be formed with digits 1, 2,- 3,4 3,2, 1
so that odd digits always occupy odd places is :

1y 24 (2) 18
@3). 12 4 6
SN 1.2, 3, 4,3,2 10 a9 W aoh dErel @ wen, w|ie frem
3w o W W 8 9N, ® '

) 24 ) 18_-

3) 12 . @4 6

n—1 n—1 n

() n>4 (2 n>35

_(3) n>o6 . 4 n>7

e emle, s A

1 n>4 | | 2y n>5
3 n=>6 - 4 n>17

Number of ways 8 boys can sit around a circle table is

1) 360 | @ 720

(3) 2520 (4 5040 | |
@Wﬁﬁ%aﬁaﬂwsmaaaﬁﬁaaﬁaﬁaﬁm%
(1) 360 | @ 0

G) 2520 @) 5040

oA B I (Costa..



70 The quadratic equation whose one root is E(1+1/*_3 ) will be

(1) X2 +x+1=0 (2) x% —x-1=0
+

@) x*—x+1=0 @ x2+x-1=0
et sl R @ g (1+953) 8, A

(1) xZ4x+1=0 @) x%-x-1=0

(3) x?—x+1.=.0 4) x2+x—1=Q

71 The ﬁumber of real solutions of equation lx|2'—'|x|'—12;0 is
M 1 o @ 2 |
@ 3 @ 4
THET |x|? —|x|-12=0 F TR T @ den &
1 1 2 2
(3)' 3 . | 4) 4

X—m x+n

mx+1 nx+1

72 If the roots of the equation are reciprocal to each other,

then
1) n=0 . - @ n=m

() min=1 @ m2an? o

st R e s g
W n=0 @ n=m

B) m+n=1 | o @ m24in? =1

R 6 (W icoma..
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74

75

The system of equations x—y+3z=6, x+3y-3z=~-4, Sx+3y+3 =10
has '
(1) no solution (2) unique solution

(3) finitely many solutions (4) infinitely many solutions

gl % Fem x-y+3z=6, x+3y-3z=-4, 5x+3y+3=10 &

) w1 e TR ") I W E
- (3) uitfw o W ¥ (4) o & §°
a-b " b-c c—a
Detenninant b—c c¢c—a a- b will have its value as
c—a a-b b- —¢
(1) a+b+c 2 -(at+b+c)
@ o @ 1
a~-b b-c¢ c—a
. |[b-c c—a a-b] ® AN BT
c—-a a-b b-c
(1) a+b+c @) -(a+b+c)
3) © 4 1
a b ¢
The value of |» ¢ a| will be negative when
¢c a b '
(1) a, b, c are negative (2) a, b, ¢ are positive
(3) (@+b+c) <0 (4) never
a b ¢
b ¢ a| @ UF HEE RN FaRE
¢c a b '
(1) a, b, ¢ TTH & () a, b, c *FIEE T
3) (@a+b+c) <0 @) B oA

A - 27 MBI~ EContb.E*



b2 42 a® a®
76 b2 c? +a? 52 equals
c? c? a’ +bz_
(1) (a2 +52 +c2) _ @ 2(az+b2 +c2)'
(3) (azbzcz) ‘ ' @ 4(a2b202)
b% +¢? a* a’

c? c? a? +b2
(1‘) (a2+bz+c2) ' @) 2(a2 +bz.+c2)
3) (azbzcz) - @) 4(a2b262)
a p ha+up
77  Determinant | ¢ Ab+ug equals
' c v he+wr '
(n o ' (2) Ala+b+c)+u(p+g+r)

B nlarbre)rh(prarr) (@) (atbic)t(p+atr)
a p la+up

arh (P 7 M) gy g
c r Ac+yr '

(1 o | @) Ala+b+e)+p(p+q+r)

3) wlatb+c)tri(pra+r) @ (a+b+c)+(p+qir)

B AR (Conta..



. 5
78  Cofactor of the element 3 of the determinant [-2 3 g is
-5 0
(1 o 2) al+2g
3G) 30 4) -2q-al
15 a 6
i |2 3 gq| ¥ ommg 3w wEEs ¥
-5 1 0 :
a d @) al+2q
3G) 30 @ -2q-al
1+x 1 1
79 I by 1 equals
1 1 i+z
1+ ! + ! + !
(1) xyz(xy+yz+zx) (2) xyz ; ; ;‘
(xy + yz + zx) LI '
(3) (TN N33z 4) xyz(x+y+z)
1+x 1 1
Dy 1 e
1 1 1+z :
1
(1) xyz(xp+yz+zx) 2) =z 14‘;“';‘*‘;
| -( +yz+zx) .11
@) tyztzjo 5z @) xyz(x+y+z)
4341 29 MIHMNI €ontd-..



X

80 If x, Y,z are all different and y

4
(1) xyz = -1 . (2)
X

q&'x,y,z?ﬂq’fam'qm%’-q y

2 3

x 1+x

yz. 1'*'}’3 =0 then
22 T+z°

xyz =0

none of the above

X 1+J|c3

yz 1+y3 =10 Eﬁ
22 1+z3

xyz =0

S ¥ g T

=0 then value of x is

W | oo
w| =

w o
wioo.

wloe
L'
ul:

W
W go

1) xyz=-1 @
3x-8 3 3
81 If| 3x-8 3
3 3 3x-8
8
M 03 @
, 21 4
€ 3’3 C)
43x-8 3 3 | |
B 3 3x-8 3. =0-T‘ﬁxﬁltn=[%
-3 3 3x~-8
8
0,—- ‘
0 3 _ | 2)
3 21 \
® 3 3 C))
Dl ey b L
43;‘&?3110\)] I 30

[Contd;.'. -
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_ a _.b —-c|
82 If{-a b —c|+kabc=0 then k equals

- —b . C ) t
o s | @ 4
@1 O

a .‘—b:l:—'é ¥

aft |- b5 —c|+kabe=0 T k SET ¥
-a -b ¢

1) 8 (2) | 4

@ 1 i @ -1

83 If ph, g™ and r terms of a HP. are respectively a, b, ¢ then the value

1 1 1
of |p g r|is
be ca ab
() © (2) 1+a+b+c
3 1+_1.+l+l | 4 _‘l+é_+£
G ey | AT
1 1 i
ey wmpd, g, rA WEAM a, bcE A |p g 7
' .bc ca ab
H AM 3
1 o _ (2) 1+a+b+c
3) '1+1+1'+1 —t
p g @ q

.

L I (Contgy ¢,



0 o
84 Ifa, b, ¢ are real then the roots of the equation | x a-x =0
¢ b-x
will be
§)) | equal ' _ (2) equal but having 6pposfte_ signs
(3) imaginary : ' 4) real _
. B o o]. -
aX a, b, c aEARE W q whEO | x a-x c=0%"1§f'€fﬁ
- ' x e b-x _
1) W | @) "R fog faofa Rl
(3) HwUTH - . (@) drEtaw

11+x =x 1-.f-Jc'-+-Jvc2

85 Determinant [I+y y 1+y+y? equals

1+z =z I+z+z2

W (rr)pre)s+) ® (s-3)y-5)(e-2)
O ey @ wiz(x=y)(y—z)(z-x)

1+x x 1+x+x2

AP 1+y ¥ l+y+y?| wwmEw ¥
o vz oz 142422 :

') (x-t—y)(_y+z)(z+x) | 2) .(x-—y)(ly—-z)'(z—x)

(3 wz(x+y)(y+z)(z+x) | (4) xyz(x-y)(y-z)(z-x) .

-V 2 Y~ tConea...



| 5 4\[a -14] [1 -2 L
86 .If ralle 171511 3 thefl q, b will be equal to
(1) a=4, b=3 @ a=-4, b=-3
() a=-3, b=4 _ 1(4) a=3, b=—4
5 4)[a -14] 1 =2 .
T fle 177 3 @ a, b T A
(1) a=4, b=3 2) a=-4, b=-3
@) a=-3, b=4 @) a=3, b=—4
1k
87 If A=[O 1] then A" (neN) equals
- [n & . ‘-1 k"
M o n @ |y 1|
- [n nk 1 nk
1 %
afy Az[o .1] dr 47 (neN) ST &
| K k] -1 k"
™ o » @ |
(n nk ' "1 onk
3 0 n @ 0 1
| 1 0 0
88 If A=|0 1 0| then 42 equals
A op -1 -
1) 5 @ 0
3) 4 - @ M
1 0 0 o
o 4=|0 1 0| @ 4% =R ¥
A ou -1
L @ O,
G) A 4 apd
43_Al 33 NN teoned-




89 If A;[__Z '5} and B:[S 1} then (AB)T- will be -
4.1 T4 2 S
10 247 . .
M |12 2 2 (B4)
N 10 -12
@) B4 3 @ 14 o

" Az[-zs]% B{s _1] - (45" m

41 4 -2
107 247 .
M .12 9 T @ (B4
| S 10 -12
(3). BA A ' (4) 24 2'

I -2 -3
90 The matrix 4=|2 1 =2|.is

3 2 1

(1) singular matrix (Z) non-singular matrix
(3) symmetric matrix . (4) skew symmetric matrix
- T2 -3
oegE A=i{2 1 -2| %

3 21 '
(1) " AgEHNE E | (2) @i e
(3) i@ N=gE @ fo e 'GTIE_’K

iV RO M (o



91 If A7 +BT =[7. 4].and AT -BT .—__[1 2] then A will be
_ . 8 9 0 3| _

fo o | 10
1 0 0 (2) .L..O 1
(4 4] (4 3]

® 13 6 @ |4 6

7 4
afy 47 +BT =[8 9]‘3 AT BT =[1 2] ag A B

0 3

1 [0 0]- | ) (1 0]

(1) 0 0 () 0 1]
4 4 (4 3]

G 13 6 @) 14 s

| A_l—zB_zl-C_zlz
92 I A=), L PT 4 3P~ T-17 9 and

| |
M—3B+C=[

10' 20] then 3 will be equal to

1 -l @ o
G) 4 @ 3

1 -2 2 1 2 12
af A=[3 4]"8:[—4 3]’C=[~17 9] 9

M—3B+C=| " -1
B BT 20]%?“1““3’“"

1 -1 o @ ©
@ 4 | @ s |
LA % - [MRHHNAR (LConed....



94 If A=

(D

3)

()

43 Ale.

3
3| then [AB| has the value
2 ' :

@ 16
4 4

3 ﬁa|AB|-mm=f%
2 .

@ 16
@ 4

) _
0 | then (4B) equals
-1 :

305 7
@) [—2’ -5 —8:|
s 7 37
“) ['—5 -8 —2]
0| @@ 4B sUEX %
| 3 5 7
@) [—2’ 5 -8

5 7 3
@ |5 8 =2

36 NN [Contd...



95

96

3 6 -l1
If A=| 3 -4 6 | then adj 4 equal
4 -8 13
4 10 8 -4 10 -8
15 5 15 | 8 0 6
-4 0 8 (8 -5 6
3) -15 10 15 - @) 15 =10 -15
| -8 5 6 |4 0 8
3 6 -11 -
afr 4=|3 -4 6 | @ adj 4 WEX ¥
14 -8 13
4 10 8 4 10 -8
15 5 15 | -8 -6
4 0 8 8 5 6
T8 5 6 : -4 0 8
If 'A=[i i:l then A" equals
1 4 o (2) nd
3) 274 4 24
o 11
TfE A=[1 1] ar 4"l qrEe #
1 4 - - (2) nd .
(3) 24 | , @ 2m4

43 Al _ .

I iContd...--
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97 If the order of matrix A is mxn and that of B is nxm then the order

of (4B)" 4 will be

1) mxm | ' | (@) nxn
@) nxm @ mxa
AR E AR BT mxn TBR DR pxom R A (4B)] A B B

. ﬁ-lh- . |
O mxm (@ nxn
(3) nxm (4) wmxn

._ a . b 2 _ a B '
98 If A_l:b a]’ A —[B OJ then

@ 0t=a2+bz, B=ab (2) o=a? +b2, B=2ab

3) 0L=a2+b2-,[3=a2—b2 4) 0c=2ab,[i=a2—b2

_-ab Q_C('B
4= 0|4 _[B |

(1) o=a?+5b%, p=ab @) a=a?+b%, p=2ab

B) a=a?+b%, p=a*-b> 4 o=2ab, B=a*-b*

99 If A=I; then |A_1+AT| equéls
a 2 @ 4
(3) 8 4 16
afy A4=1; @ IA_1+AT|'Emar{ %
1) 2 2) 4
(3) 3 | @) 16

Al s B~ (Cone.

ok



4= 3 13
100 1t A= !
S
(1) L3
4 —13]
® |
| 313 -
S A=[_1. 4], AB:[
4 -131
o |7
4 -13]
® 1.

|

1 0

I-J then B equals

o |
@) [
]?—ﬁ_Bama'{%
@) [
@ [

-3 13
1 -4

|
|

-4 13
1 3

1 0
01

=3 13
1 4

|
|

-4 13
13

101 The roots of the equation 5%t 4+527% =53 41 are
1 1
—Z.25 =25
| (1) 5’ 2) z
3 L= 4 1,2
(3) 573 4 -1
1 1
_1 25 225
1) 5 (2) 5
3 11 4y -1, 2
(3) 53 4 -1,

102
(1) 2.5
(3) 2.0

2.2
1.9

2)
@

1) 2.5
(3) 20

43 A}

2y 2.2
4 19

39

NI~ (Coned...



' 1+ x ;
103 If f(x)-=10g(1—_-;) then f(1+x2] equals
@ 2f(2x) @ 2f(x)
G flzx) - @ [f(x)]zi
1+x 2x
& f(x)=log[—] & f[ ] e ¥
1—_-—x 1+x2 .
(1)  21(2x) 2y 2f(x)
G f(2x) @ [P

"104 On the set of natural numbers N the relation R defined as
. aRbea® —4ab+3b° =0, a,beN is
(1) an equivalence relation (2) reflexive

(3) symmetric (4) transitive

Yipel A % TIwd N W gRb < a? ~dab+3b% =0, abeN

TR wE " R %
(1) geEr LED] (2) =g

(3) wEfE 4) Hmrm

105 If f and g mappings are given by f;R-aR;f(x)=x2+3' and
g:R—)R:g(x);xz—T_ then (gof)(x) is
(1) x*s6x242 @) x*-6x?+2
@) xf-ex2-2 @ haex?oz
4 ‘g'f‘\iF--FJT-.)‘:R—>R:f-(x)=.x2 +3 9 .g:R—)R:g(x)=x2~7 ¥ 3
W E Al (gof)(x) ® o |
(M x*rex?+2 @ 1 -6xt+2.
B <t _6x? 2 @ xfeex?o2

AN o W (Conta-.



106

107

108

f:R—R is defined as f(x)=1,xe@ and f(x)=-1,xeQ where
O is the set of rational numbers. With this mapping image set of R is
@ £y @ {1} '
3 {-I @ {1, -1

f:R—R W WK i@ ¥ e f(x)=-1,xeQ T f(x)-1,xeQ

W%Qwﬁﬁatﬁéﬁfmqgaﬁ% isﬁﬁaw%quﬁnﬁaagﬁm_%
1 {3 | 2 {13
@ -1 @ {1, -1}

If the functions f(x)= 2x% -1 and g(x)_ =1-3x are equal functions then
domain of f and g is ' ' o

1
® () | @ {—-2-}

1

.(3) {2,_“—} | (4) None of the above

2

aR wE f(x)=2x2 -1 F g(x)=1-3x W W adfagm@

1
@ {3 - @) {—5}
| 1 R .
G) {2,—5} (4) wwdem ¥ B T
2x+3

If f:Q-{1}—>Q such that f(x)= then function f is, when Q

is a set of rational numbers

(1) one-one but not onto (2) one-one and onto
(3) into - _ - {4) many one |
_ I 2x+3 3
af f0-{1}»o wmww ¥t B S(x)= o a9 ®aT f ¥, vk

Q ufe oiel @ wgeEE ¥
(1) Wnﬁa{wa‘é’r (2) THH q DR
(3) orwand | 4) Sgua |

A - Iy (o



109 If f:R—>R such that f(x)=x—-8 then f71(19) is

110

111

1) 2 @ 3
3) 11 (4) non-existent

SRR WUHR E B f(x)=x’-s @ slqo) ¥

1 2 - 2 3 : s -
(3) 11 | o (4) oftgm & =& ¥ -

Function f:Z ~ Z such that f (x).= x% +x where Z is a set of integers
then f is:

(1) one-one onto (2) onto

(3) many one into _ (4) many one onto _
G f:Z—Z Wb fx)=x +x W& Z QB w0 e ¥ 1 f R
(1) THH ArBES @ urERs

(3) =guM oA | (4) <EEH SrBES

1 .
Iff:R——:»R:f(x):x2 +2 and g:R—)R:_g(x)=1+;—1 then ( fog )(x)

18 (x#l)
3x2 +4x+2 ‘ 3x2 _4x-2
O g ® ooy
3x? —4x 3x2 _4x+2
3) (x—1)2 4) (x—l)?' '

R fRR: f(x)=x242 T giR“*Rié’(-x)?”;lj & (fog)(x)

(r#1) %

3x2 4 4x+2 .  3x?_4x-2
(1) (1—x)2 (2) (x_l)z

3x% —4x o 3x? —4x+2
® ) @ T

A37AT i 2 I~ (Contd...



112 (00549—.sin4'9+1) equals

{1) cos’ © | 2) sin? @

(3) 20052 3] ’ I (4) 2sin2 9

(cos4 6—sin? 8-!-1) EEACEOE S

1) cos” 0 | : (2) sin2.0

(3) 2c0s’9 ) 2sin?9

113 If 3cosec?®=2sec@® then @ equals

e ;i
ONy @ 3

pI ' T
3) 7 : 4) 5
T 3coseclf=2secd W O TEI

i T
M 3 @ 3
(3) % (4) %

. 1
114 If sm(o&—B)=E and cos{o+P)=0 then B equals

T n

O @ 7
P - | -

G 3 @ 3
Rt sin(oa—[i)=% T cos(o+B)=0 A B
T | S

™ 7 @ 7
6 3 @

43 A] 43

T ¥

N (Gontd-
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115 The value of is

3]
e}
o

O = =

(1) abe(a+b+c)

(3) abc(a+b+ c)(£+%+%)

a bc..

ac| Ht A9 %

F‘:IHQ"D—-‘Qil—‘l
o

(1)  abe(a+b+c)

1

(3) abcla+b+ c)(l+ L ——] E

a b ¢

a b ¢

2) abc (l+ -1-+ -1—]

@ 0

a c

) abe (_1"'-}1;-'-1)

4 o©

116- In an examination 44% students failed in Hindi, 52% failed in English.
If 21% failed in both languages, then out 76 students number of students

passed in both language is
1y 17
3) 19

(2) 18

“ 20

T T ¥ 44% o Bedl, 520% BeR oSl ¥ el 3w 1 A 21%
ma’rﬁw@fﬁmﬁﬁgq@rﬁ%ﬂﬁ%ﬁwﬁ#ﬁﬁﬂi

W 9wl @ 'y ¥
) 17
3) 19

43 A). .

@) 18

4 20

[Contd...
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117 If N is set of natural numbers, R is set of real numbers and Q is set of
rational numbers then the true statement is

(1) gcRacN (2) NcQcR
3) QcNcR . (4) RcQcN

m%ﬁwmgazmmﬁtmraﬁﬁq%'szﬁﬁmsﬂamﬁ‘mrayﬂa%:a
0 i demelf w1 e ¥ W wd awed ¥

() QcRcN. (2) NcQ@QcR
3) QcNcR (4 RcQcWN

sin A 1+cos A

+
us I+cosA . sinAd equals
(1) 2sind (2) 2cosd
(3) 2cosecd (4) 2secA
sin A +1+cosA 3
C1+cos A sinA
(1) 2sind (2) 2cosd
(3) 2cosecd (4) 2secd
119 tanA+secA—1 .

tan A—sec A+1 equals

I+sinA : l-sinA
1
) cos A 2) cos A
. l+cos A | l—cos A4
®) ha @ Tna
taﬁA+secA—l 2
tan A —sec A+1

1+sin 4 I-sinA4
1) )

cos A cos A
=~ 1+cos A4 1—cos A
3) sin 4 )

~sin4

e 45 ~ (smpn - 1contd...



120 If tanO=

m then cos© .equals
2x+1 | ) 2x(x+1)
5y — i Sl
) 2x2 +2x+1 @ 2x% +2x+1
2x : 4 2x2
3y —— . -
3) 2x2 +2x+1 @ 2x2 +2x+1 7
+1
iy tan9=ix_(ic___)_ WA cos® TR &
(2x+1) :
2x+1 ) 2x(x+])
1 e S R g s p—————————r——
M 2x% +2x+1 @ 2x% +2x+1
2x 2x2
3 - 4 I S—
®) 2x% +2x+1 @) 2x% +2x+1
121 (sin45° cos 60° —sin 45°5in 60°) - equals
(J3-1) , o (\[3-—1\
1 No=1 ¥
(1) V2 | ) w2
(G-1) | ) (31
3 N>—1 (¥
(3) N 242 | 4) \.21/5 )
(sin45° c08 60° —sin 45°sin 60°) AT ¥
: («E—l\' _ (.1/5__1\
1 - 2 =l T
(1 w2 2) e
fﬁ_l\ (ﬁ_l\
3 = 4 i Baar—n
(3) \ 22 ) 4)

2x(x+1)

,
[ o)
51

. S

s S

it

I 13158
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122 A vertical tower stands on a horizontal plane from a point distant 60 m from
its foot, the angle of elevation of its top is 30°, the height of the tower is

(1) 20m @ 204Bm
30
(3) j—;m - @) 3042m

@Mmﬁ#ﬂ@%ﬁﬁﬁ@%%,-w%wﬁéoﬁr.?%%ﬁﬁ
& o @7 o o 300 B, fAR @ SR R '

1) 20 #& @ 2043 A
30 | |
Ol . | @) 3042 .

123 From the top of a 60 meters Hgh cliff the angles of depression of the
top and bottom of a tower are bund to be 30° and 60° respectively, the
height of the tower is
(1) 20+/2 meters (2) 30 meters
(3) 3043 meters (4) 40 meters

GOWHW%QW%'@W%QWHHE%WW
30° 9 60° HE: U T | BAR W S9E 3

(1) 2042 A @) 30 #;I
(3) 3043 M C(4) 40 WX

124 If cosB—sinB=+2sin6, ther os6+sin equals

(1) 2sin® " (@) 2cos
(3) ' ' L cosO
5y —=
V2 cos® 4) N
iy qose'—sin8=1ﬁsin9, a9 .cosO+sind TTET AW
(1) 2sin6 @) 2c0s0
3 2 ' | 4 ;-1--0059
/20038 - ) 4) N

oA | T I (Conea..



125

- M

126

127

.'_(3)

| (3) sin{A4+B)

sin 75° équals

J3+1 ;
202 @
NS
(3) 2 - (4)
sin 75° §HH ¥
o J§+1
(1) 21/5
V3+1 |
) @

@

&

off

T

5

o

2

cos (45°= A)cos(45° — B) —sin (45°- 4)sin (45°— B) equals.

(1) sin(4-B) @)

(3) sin(A4+B) “@

cos(A-B) -

cos(A+B)

cos(4$°—A)cos(45°—B)—sin(45°-A)sin(45°—B) TEL

2
@

(1) sin{4-B)

cos(4-B)

cos(A+ B)

. 15 12 :
If sin®=-> and cosP=— ther tan (x+B) equals

_ 1_3
y 22 |
M T @)
5. 212 @
@ 3 @

220

21

225

14

af sin.a=% g cos.ﬁ=% ¥F tan(c+p) WA T

' 155
o - @
212
® T (4)
43 _A] 8

{31 R '

220

21

25

14

[METRIN ~ (Coned...



128 sin(n+1)0sin{n—1)8+cos(n+1)8cos(n—1)8 equals

(1) cos8 - 2) —cos®

3) cos26 (4)  —cos26
sin(n+l)9sin(n—1)9+cos(n+1)ecos(n—1)9 TE
M cos @ —cos®

(3) cos26 (4)  —cos20

sin75°—sin15°
cos75°+ cos15° 18

129 The value of

1 1 : - @ g
1 | ~ 1

3 E ' €Y ‘Jg’

sin 75°—sin15° 3 '

cos75°+cos15°

1 - @ -‘{3
1 : 1

®» 5 @ 5

3 1 '
130 If tano=—= and tan3=— then (a+f) equals

n
1) —} @) *;E
3) —’25 (4) %
_qﬁ_ma=§ - tanB=% T 0+p) TR B
M % 2) %
(3) % (4). %

r

$3_A1 o £ (W LContd-..



131

132

If in a triangle 4=45°, B=75° and C=60° then g++2¢ equals
a b . : @) 2
() 2425 @ 25

Ay wH Brgw ¥ A=45°,B=75°'q C=60° ¥ WA g+2c TWEE
a b @ 2 '

@) 242 b | @ 70

At a point 4, the angle of elevaticn of a tower is 'such-that its tangent

5 .
is o on walking 240 meters neaer to the tower, the tangent of angle

_ 3 :
of elevation is 7 the height of bwer is

(1) 200 meters : (2) 215 meters
(3) 225 meters _ - (4) 250 meters

wﬁgAﬁwﬁmmwmﬁm%%mﬁ?%%

T A T 240 e A T B e 2 ¥, AR A

133

4

Su ¥ .

(1) 200 #rX o (2) 215 ¥rx

(3) 225 MW (4) 250 9%

The median of the observations 15; 0, 4, 1.5, -6, 1 is
(1) 2.00 (2) 1.50

3 125 | (4) 1.00

J&oli 1.5, 0, 4, 1.5, -6, 1 @I #hew &

(1) 2.00 - '(2) 1.50

(3) 125 (4 1.00

SAeo g N (MIENGDY  [Contd...



"~ 134 An empirical relation (approx1mately) between Mean, Med1an and Mode -
of a set of data is

» (1) (Mean - Mode) = (Mean — Median)
(2) (Mean — Median) = 3(Mode — Median)
(3) (Mean — Median) = 3(Mode - Mean)
@) (Mean — Mode) = 3(Mean — Median)

sredl % fedl wE % W, qﬁ%ﬂmaagﬁﬂsﬁrqasm#ﬁﬁwu
@mm) ¥

(1) (e - agEw) = (A - i)
@) (mem - AEw) = 3(EgEE — A
G) (e — wiw) - 3(@gEs - W)
@) (e - agw) = 3(me — W)

135 The mean wage of 100 workers in a factory running in two shifts is
Rs. 260. If the mean wage of 60 workers in first shift is Rs. 280. The
mean wage of rest 40 workers in second shift is

(1) Rs. 230 (2) Rs. 245
3 Rs. 250 4) Rs. 252

W%ﬁmﬁﬁﬁwwaﬁloomﬂﬁmmﬁamzﬁoa
¥ |uﬁumwr&%60$ﬁaﬁﬁrmaﬂwaﬁzso~5 3 |§aﬁtrr&
CL 40?#3@%1@%@%3?%

1 @ 230 (2) w245

(3) ®. 250 4 % 252

136 The mode for the observations 3, 8, 10, 12, 15, 9 is

mn ss5 @ 15

3y 1 (4) non existing
Jaol 3, 8, 10, 12, 15, 9 & Fdy wge

(1 95% 1 @ 15% 1

(3) 11 % 1 (4) oftga & & ¥

5t I xcontd:



X Size: 5.7 |8-10111-13 }14-16 | 17-19
137 For the data Frequency: | 14 | 24 38 20 1 4

quartile deviation is
(1) 887 () 227
(3) 13.42 @) 1272

W |57 [8-10 |11-13 | 14-16 | 17-19 |
HEE e | 14 | 24 | 38 | 20 | & | ® O WS
femem % ,

(1) 8.87 | | @) 2:27

3G) 1342 @ 12.72

138 If o denotes standard deviation, then 2 of the first 7 natural numbers is

n(n-1) . n(n+1)
12 @ 12
n* -1 {n? -
o o U
12 12n
R ¢ A e @ el ®G E a wew 2 W et @ o2
e E
n(n—l) B , n(n+1)
1 12 ' @) 12
n2 -1 112 -1
o 7 o 7Y
12 12n

139 The means of two samples of size 50 and 100 réspectively are 54.1 and 50.3.
- The mean of sample of size 150 obtained by combining two samples is

(1) 52.55 (2) 53.68 -
- (3) 5157 (4) 52.48 |
50 @ 100 AR % Al & W HAM: 541 F 503 ¥ 1 5 A A
- m AT ¥ 150 SR % T B A B
(1) 52.55 _ (2) 53.68

() 51.57 (4) 52.48 |
GO A~ KConta..



140 Standard deviation of the data

[x:T4]s517 {8 1w0]i2|
fli 3z fjr|1]"

56 _ 53
1) Y . 2) \l;

52 49
G 45 @ 7
R EaE 7181012
CE N 21111
HT UFE HuEd

56 ' 53
O {5 O 4T

52 ' - {49
3) ) 4) Y

1 I A=| O T 0], .
“| -sina cosa | " A(Adj A)=A 0 1 then 2 will.be

equal to

(1 3 2 2

3y 1 . (4) sinocoso

af A=[_°;i°; :’Z;i} T 'A(Aajr‘A)=?t|:(1] (1)] A Ty
1 3. | 2y 2

@ 1 (4) singcoso

A1 | = WG (Conta-.



143

144

1 -1 1

-+ 142 Determinant 1 I+x 1 equals
| « 1 1 l+y
(1) x+y 2) l+x+y
(B l+xy 4 x
1 1 1
g | 1P V| mmw
|1 1 I+y
1y x+y 2 l+x+y
B) l+xy @4 w

Words are written with letters of the word BANANA. Number of

permutations” will be

(1)- 120 2) 60
(3) 720 (4 360
BANANA 9 & a0l & o= for@d sl @ | ®oedl @y g e
(1) 120 (2) 60
(3) 720 @) 360

. - -
If o« and B are complimentary angles (0<0ﬁ<5] and sin o

the value of (cososinf~sina cosf) is

1 o
G 1 )

(cosasinP—sinccosp) & AW ¥

1
M o @ 3
3 1 4 2
Ao My - i
APt Wig ot s (R

ot
5 then

[Contd...:
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145 If tan®=cot® where 0<9<§’ then 8 is

m ;o @

a ola

3)

BLSIR

@ 3
R tan®=cotd ElE 0I<9<§ CECCEE
1) -E 2) ‘E

i ' n
(3) P 4) 3

146 The maximum value of gin@+cos® can be
(1) zero '
(2) less than one but greater than zero -
(3) one

_ (4) more than one

sin0+cos @ ABad AN & FTHA o
(1) x= .
(2) T Y H W ¥ Al
(3) TwH - |
@) T ¥ S

147 Two straight lines 4B and CD intersect at O. Angles AOD and BOC are

(1) complementary (2) equal

(3) supplementary (4) not related

& o W@H ABw CD O W FEA ¥ | # 40D @ BOC ¥
1) T | ) W

(3) > 4) @ d§u T8

4.4l I 5. [lunOm  (Contd



148 ABC is a triangle in which AB = 10 and AC = 3 then side BC is

('1-.)_ equal to 7 : (2)  greater than 7

3) l_ess.than 7 _' o (4) none of the above

ABC @ foqw ¥ W_AB% 10T AC = 3 @ @ gﬁBc%

() 7% sqE ‘ ) 2) 7% sftm |
3 Td B @) TRE ¥ ¥ @

149 The difference between sum of integers from 1 to 25 and sum of integers
from 26 to 35 is ' ' '

(1) 305 - (2) 295
G3) 20 @ 15 3
L% 25 % & i % G ¥ 26 4 35 T & wi & @ w
S 305 | () 295
(3) 20 | - @ 15

. : ' _ . 35 ' , )
150 The sum of a number and its square is —. The number (>'0) is

4
® 3 . RONE
3 2 : @ =
® 3 __ @ 3

Wﬁmﬂmﬂﬁ-ﬂﬁﬂ‘%%lm@@%
o 5 @

3 7
RONE, | @ 5

43 A] | 56 (Y [Coned...



151 In a quadratic equation ax? —5x+c=0 the sum of the roots is 10 and
' product of the roots is also 10. The value of a+c¢ is

1 | ]
() 2—2- (2) 55
1
G) 3 @ 6

o T TR ol —Sx+c=0 B & & AT 10 ¥ F T B U
1 10 ¥ & at+c &AM ¥ | |

O 2= | @ 5

1
2 2

6 35 @ s

152 The diagonal of a square field is 110 meters. The area of the field is

(1) 6050 meters? ' (2) 12100 meters?
(3) 6000 mieters? (4) 1200 meters?
T T e @ w110 W ¥ Aem B deww ¥
(1) 6050 dex2 (@ 12100 #ex2

(3) 6000 Hier? (@) 1200 He?

153 The sum of five consecutivé numbers is 1185. The largest of these

numbers 1s

(1) 237 T (2 240

@) 239 @ 241

v WTER wemel @l g 1185 ¥ 5 wemel § wed a9 ¥
(1) 237 @) 240

(3) 239 @ 241

o - _ W 1€



154 The value of % for which the equation x2 +8x+]1=k(x+2)2 has only

“one root is
(1) 1ors ‘ (2) -1
@) 1 . @4 s

kw1 W, R R eEB 224 8x 112k (x4 2 FT daw T W

M 15 2y -1
B) 1 ' @ 5
' x 2 x 3
155 The value of x and y satisfying-the equations “3“—;—'1 and —"“;—3 are
(1) x=3y=2 (2) x=6y=2
G) x=3,y=1 @) x=9y=i

3
W"ﬁ§“%=la§+;=3 zﬁrﬁ@qﬁﬂ%é’t{xﬂy%ﬂﬁ%

(1) x=3,-y=2 . (2 x=6,y=2

3) x=3,y=1 4 x=9,y=1

1536 The radius of a wheel is 7 em. Number of revolut10ns it will make in
~ travelling 44 km. : '

(1) 1,00,000 | (2) 10,000
(3) 1,000,000 (4) 22,000

TH TRy @ Bemm 7 9L 2 44 Beay Wm%ﬂsa%mm
T UEB Wl T :

(1) 1,00,000 (2) 10,000

(3) 1,000,000 @ 22,000

S 58 (g 1contd...



157 The solution set of equation 3% +3 ¥=2 is
@ {} - @ {1

3 {3} - @ {0
FHETT 35437 =2 ¥ i @ agam H

o {1 @ {1}

3 {3 ) @ {0}

158 If x,y,z are in ILP. then the value of the expréssion |

log, (x+2)+log, (x-2y+z) is

(1) log, (x_—z) | (2) 2log,(x-2z)

() 3log,(x-2) @ 4log, (x-2)

o xye E AW loge (3-+2) +log, (v=2y+2) 1 7 &
(1) log, (x—z) @) - 2log, (x—z)

(3) 310ge(x—z) _ 4) 4loge(x—z) .

159 If A is a square matrix such that A2 - A41=0. Where 1 is an identity
‘matrix and 0 is a null matr.ix, then A1 is
(1) 4 @) A1
3) 4 : t4) A+

o 4w W o Rew ¥ R AZ—A+1=0_Grsi"I'@3EFF§9ﬁEWEr'
0 uw g M ¥, w47l ¥ |
1 A4 @ 4l

(3) I-4 @) A+

43_Al ¥ (MNIHNY ~ (Contd...



160 If Az[? ?] and B:I[; I]’ then value of a for which 42 =3 is

(1) . : @ -
3) 4 : : (4) does not exist

Tfg A;[T ﬂ q B:E (1)] 9 o @ 9% 99 e e A2=_B
(1 1 @ -1
3) 4 @ ofga § T8 %

161 A matrix X has (a+5) rows and (a+2) éolumns, and matrix ¥ has (56+1)
rows and (a+3) columns. If XV and YX both exist then
O a=35=2 @ a=2,5=3
(3) a-2b4 . 4 a=4,b=3

e X% (a+b) iRt T (a+2) ®WW E T HEE Y A (b+1) il
T (a+3) Hw%ruﬁﬂa YXﬁaﬂac—crﬁ%a‘r
(1) a=3b=2 2) a=2 b=3

3) a=2,b=4 @ a=4b6=3

162 Dimensions of a hall are 12m><10m><6m White washmg its wall and
ceiling at the rate of Rs. 3.25 P per sq. m. will cost

(1) Rs. 819 (2) - Rs. 858
(G) Rs. 1248 | (4) Rs. 2440

qmm%wmﬁ’r xloﬁ’r X 6 . %lmwawﬁqﬁr&
% 325 %, uﬁraﬁﬁr.iﬁrﬁﬁmﬁwaﬁm

(1) = 819 (2) . 858
(3) . 1248 _ (4) T 2440

1AL o © MIHNIW ~ (Coned...



163 The radius of a circle, whose area is same as that of a rectangle whose
sides are 210 cm. and 165 ¢m., is

(1) 105 cm. (2) 165 cm.
(3) 210 cm. (4) 375 cm.

o g, Teet deww 210 A T 165 WA W@»ﬁﬁ[ﬁ@ﬂmﬁ%}i%ﬁtﬁﬁ
¥ ST ¥, B e ¥

(1)- 105 &AL (2) 165 ¥HL.
(3) 210 ¥4 (@) 375 44

164 The circumference of a circle is 88 cm. The area of the circle is

(1) 2464 sq. cm. _ (2) 616 sq. cm.
(3) 308 sg. cm. (4) 154 sq. cm,
s ga @l IR 88 WA ¥ W W W ¥

(1) 2464 I, | (2) 616 I A

(3) 308 9, @) 154 944

165 To make 4x?+]2xy a perfect square we should add

M ¥ : @ 36y°
G) 4y - @ 9y
4x2+12agzﬁtgu’iaﬁa=|ﬁ%ﬁﬁﬁﬁhw%’ﬁn
M @ 365°
3) a4yt RORKTS

166 The floor area of a square room is 182.25 sq. m, The perimeter of
this room is '
(1) 36 m. . : (2) 52 m.
(3) 54 m 4 60 m.

.Qmaﬂfmriﬁq%asmaim%ﬂqﬁilszzsaﬁ ¥ W B @
afieg ¥

(1) 36 # o () 52 9.
(3) 54 4. (4) 60 7.

3.4l | o T [Contd...



167 A rectangle whose length is @ and width is b is revolved through 360°
about its length. The volume of the cylinder so formed is

(1) nab? ' @ ra®
(3) mab - . (4) none of the above

T e fHEw WE Y o 9 deE b ¥ @l Wiy % gel 360° YUET W
1§ UHN T 46T BN oIE ¥

1) gap? ) na%

3) nab | - 4) sRE ¥ B T

168 Total surface area of a solid hemisphere of radius a is

(1) 2nd? ) 3ma®
@ and @
a T T S e @ ot i dmwe ¥
‘(1) 2ma | @ 3na?
@) ana® @ o

169 From a right cone of height # and with base radius r a cone has been
cut of from the centre of the height. The volume of the remaining frustum
of the cone is

1 4 : 1,

~4h —nr-h
(1) 3J1:r ‘ 2) 24nr

7 2 : 1 -

—mh STrh
®) 5 @ 3

TF W9 ¥ ¥ e TEE 4 T ouR & Brew - ¥ uw W9 oig eneh
aR ¥ B Rar ™ ) 3¢ i b e ®r e %

N 12

_ —roh —mrh
(1) 311:r 2) 2470‘
- 7 _2 1_»
nrh —Trh

Bal 62 [~ tConed...
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170 From a circle of radius a, a sector, which subtand an angle 3 at the centre

has been cut off, The perimeter of the remaining part of the circle is

A 2na o %a
7 on
& <9 | @ -9

a.ﬁwﬁﬁﬁwﬁm,ﬁﬁﬁﬁaﬁﬁ%méaﬁﬂm%,
we Fan s ¥ g9 F doew w0 ofew ¥

1) 2na @ %a
T : o
G @ S

171 The sum of all four digit numbers formed by the digits 1,2,4.6 is

(1) ' 14443 (2) 28886

. (3) 43329 @) 86658
12,46 oF ¥ S 4 3w B FEE B TS §
(1) 14443 | (2) 28886
(3) 43329 | (4) 86658

172 If 56ﬂ_+6;54 ) .3 =30800:1, then the value of 7 is
1 41 @) 51
(3) 40 (4) 42
ak 6p %P5 =30800:1 & T r W AN ¥
(1 41 @) 51
(3) 40 @)

oA e M~ (Cone-



173 The number of ways in which letters of the word DOCILE can be arranged,
so that consonants always occupy odd places, is

(n 720 (2) 216
@) 36 @ 12

s DOCILE % &i&rdi @t ao ¥, frad =iow gie fww wmi o &,
ThHl B e T
(1 720 , @ 216

®) 36 @ 12

174 The expression axé+2h xy+by? can have two factors if
1) We<ab @ W
3) r=ab - @ h2+ab.=0I
ENET ax2+2hxy+by2 % & PHEES § e §, 9
(1) K<ab ' @) hz#ab

3) Kl=ab ' (4 M +ab=0

175 The roots of the equation (log, x)2+e=(1+e)loge'x will be
1D 1,0 (2) €,e
3y Lle ' 4 0
THIHTO (logex)2+e=(1+e)loge.x & @ B

M Lo (2) &e

(B) Le 4) 0e
BAL s [N tContd..



176 If (2'”2 —1)222" =221 then n equals

1 2 @ -2
3 1 | @

A (2”*2—1):22”=2'2:1 A A wETE

M 2z | @ -2
Gy 1 @ 1

177 The roots of the equation x2-12=—x"1 will be

- b1
) 4,3 N
Ay L1
® 37 @ 3,4
gl x2o12=—x"! & q@ T

. oL
1y —4, 3 __ @ -3

11 .
® 373 TS

3+x 3-x 3-2x

178 If + = , then the value of x 1§
24+x 2-x 1-x~
(hH © 2 1
(3) 2 @ 3

3+4x 3-x 3-2x
+ —

T 2+4x 2-x l-x o .x A Y
@ o @ 1
B 2 . 4) 3

oA s MR (Conta-



179 If y=mx+c and x?+y? =47, then both the values of x and y will be

~equal if
(1) c? _=a2 (1+rlnz) (2) 2 =a2‘(l—m2)
2 2
2 a 2 a
3) ¢ = 4 =
@) 1+ m? ¥ 1—m?

afy y=mx+c T y24yt=g% @ JIcEly I H AW WA O, AR

(1) 02=02(1+m2). ' ) c2=a2(1—.m2)
2 2
2__4a 2__4a
G TR W =

180 If (n~1) GM.'s are inserted between a and b then corresponding common
ratio is ‘

1 : | 1
b \n+l a\n-1
® (:;) @ (ﬂ

uﬁaab%m(n—l)g.m.mﬁﬁ&aﬁﬁﬁﬂﬁvﬁaw%.

BAL - 66 WM tcontd...



181 Solution of cosO+ cos2 0=1 is

(1) Cvf:os‘l (ﬁz.__l)

g5+
(3) ©os (.3 ]

cos@+cos’0=1 & & 3

(51
(1) ©os %
\ y,
cos—lf\/gﬂ\
3
(3) y
sin24+sin 28
182 equals

sin2A-sin28

O sin(4—B)

tan(4+5)
®) tan{4A—B)
sin24 +sin2B
ET %

sin24—sin28

sin(A+B)
M Sin (A-B)

fan{4+B)
®)  wn(A-F)

43_A}

67

@)

“)

@)

)

2

)

@

(4)

sin{4 -B)

tan{4+ B)

sin(4—B)

tan(4-5)

tan (A4 + B)

AL - (Contd...



183

184

185

" sinA-sinB

' 1
() > ' )

cos B—cos A equals

_ 1 ' ' 1

() tan—z-(A+B) _ ) tanE(A_B)
1, : _ 1 :

@) cot-(d-B) . @ cotm(4+B)

sin A—sinB N

cosB—cosAd .
1 ' 1

(1) tanE(A+B) 2) tanE(A-.B)
1, - 1

(3) cotE(A—B) (4) cotE(A-}-B)

sin50° —sin70° +sin10° equals -

(1 o 2 1
1 1
3) @ 3

2
sin50° —sin70° +5in10° T ¥
(1) o @ 1

U] -

If 4+B+C=180° then sin2A4 +sin 2B +sin2C equals

(1) sinAsinBsinC (2) 2sinAsinBsinC
(3) 4sinAsin BsinC (4) none of the above
Tty A+1§+C =180° @ sin24+sin2B+sin2C wIF ¥
1 siI;AsiﬁBsinC (2) 2sinAsinBsinC

(3) 4sinAsinBsinC (@) S @iy -
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186 In a triangle ABC, tanA+tanB+tanC equals
(1 o | (2) tanAtanBtanC
(3) 2tanAtanBtanC 4) 4tanAtanBtanCh
| %T'H,W ABC ‘?f tanA+tanB+tanC Rl ¥
wo @ wmdmBaC

. ® th_A_tdn'BtanC 3 "_(4)” 4ta_mAtanBtanC |

187 For the observations 2, 4,7,3,4,12,10, 8; 4,7,3 the modal value is
ay 4 @7 o .
3 8 @ 12
Yo 2,4,7,3,4,12,10,8,4,7,3 % Ry wgwd AN ¥
1.4 2 7
(¢) 8 @ 12

_ x x-a x-b
188 If a;tb#c then one value of x, for which jx+a x x-c¢ =0 is
x+b xX+C X

satisfied, 1s

(1 a - 2y b
(B) ¢ - @ 0
X —-a x-b

qe azb#c @ |x+a x x-— c—OﬁH'ngZElﬂefaﬁTxEm@

x+bh x+c x

e ¥
() a | 2) b

@) ¢ 4 0 .
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x+1 -~ w w
189 If w is the cube root of unity and | w x+w? 1 1=0 then x eq'uals'
w* 1 X+w
1 w 2 w2
G 0 @ 1
x+1 W w2

(1) w ) w2

@ o @ 1

190 A square matrix 4 is a skew symmetric matrix if
(1) 4g4=47

@) 4=_4"
(3) all the principal diagbnal elements are zero

(4) none of the above

o = orege R arr&m o ¥,
() 4=4"

@ =4

() wa% geu Rl sema 9T ¥

(4) IR W owE R | | -
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0 1 . '
If A= [O X 0] and I is a unit matrix of order 2 and a, b are arbitrary scalars,

then .(al + bA)2 is

1) Pl+abd | Q) oP1+2ab 4
(3)  Q21+b%4 @ Gl1+b24?
Tty A=[g é}al%@aaﬁﬁww&mﬁaﬁmbé@aﬁm

AW (al+bd) TECE

() APl+ab 4 2)  a*1+2ab4A

192

B) Gli+b%4 4) P r+5242

20 is divided into four parts which form an AP. such that the product
of first and fourth bears a ratio to the product of second and third as 2:3,
the four parts are

1) 24,68 2 - LA 10
( ) y T3vy ( ) 3’ 3-’ 3 »
2 11 20 ) :
3) E,?,—;‘,E’ (4) none of the above
3 — _

20 @ VY GR AT N wie v ¥ f6 oW AP H ¥ 9 wed
AT B PEET T gE 9 WA % OGS A 23 B OATIE@ ¥
¥ =W AT ¥

(1) 2468 2) % %, .132 10
211 2 | _ _
(3) ga?a—;ﬁ | @) SUhH X FE T
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The interior angles of a polygon are in A.P., the common difference is
5° and the smallest angle is 120°. The number of sides is

1 9 @) 12
(3) 15 . 4 16
TH §§Y & el & ufenr €9 N ¥ e e 50 9 wed
BIET BT 1200 &1 ¥ qgus @ ool @ wem ¥ -
n 9 - @ 12
3y 15 , @) 16

Between a and b, A is the AM. and G is the GM., and A=2+G and

a
—=4 then a, b are

b
(1) a=4>b=16 | (2) a=16b=4

o | 3
3) a=12,6=3 (4) a=3,b=z

ad bF T A QWM GG LA T AW 4=24G q %——-4 @, a b

® A ¥

(1) a=4,6=16 2 a=16,b=4
3

(3) a=12,6=3 | (4) a=3,b=Z

If two HM.'s Hy and H, are inserted between a and & then Hj'! +H5!

equals

’1 2 2 b

® 3 @ g
ab . 1 1

3) —— ' —+—

®) a+b @) a b

R aa b dwA ) T H, F T AR R oW A gl

- 2
» 5 @ 5
) a+b “) a b .
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196 The sum of » terms of an AP is -ﬁ(3n+10) then which ferm is 67 ?.
m s - @ 9
@) 1o | ' o @ n
et a4, ® nqa‘r AT #(3n+10) . ! G‘Eﬁw‘i BT TT 67 % P
m 8 | 2 9 |

- 3) 10 | ‘ @ 11

197 How many words can be formed from 3 consonants and 3 vowels chosen
out of 7 consonants and 5 vowels ?

(1) 72,000 : @) 216,000
G) 67,200 : @) 252,000

7aﬂaswﬁ%3ma3mwmmﬁaﬁsﬁﬁ

() 72,000 (2) 216,000

(3) 67,200 | 4) 252,000
198 The sum of » terms of the series 24+20+16+.............. is 72, the maximum |

value of » will be
m 4 @ 9
@ 13 g @ 18
I 24420416+, %nqa’rmr!fmn%?ﬁnmaaﬁ:wqﬁs‘rm
(1 4 @ 9
G) 13 : @ 18
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199 The first term of a GP. is 28 and the fourth term is 29" The sum of

its infinite terms will be

98 |
O 5 o (2) 33
]
49
® 7 @ 1
| el T4 @ v w28 A Wl W % %i@fﬂﬁﬂsmrﬁrm
& |
98 )

O @ 33

49 '
- 7 4 11

200 Number of terms in the expansion of (x—y—z)° is
n 9 | | () 17.
3) 45 | @ 6
| (x-y;z)g aaﬁwﬁﬁqa‘rﬁms‘rﬁr
m o - @ 17
3 45 | @

e - 74 IR~ (Contd...



SPACE FOR ROUGH WORK / &= W & il Wi

Al 7 (BTN (Coned..



SPACE FOR ROUGH WORK / &= & & ffdl 7e

vAL 7 1NN - Contd...



SPACE FOR ROUGH WORK /%= % ¥ fid s

S 7o MM Conta..



SPACE FOR ROUGH WORK / %= ™ % ol 71g

sl 78 AN (Conta..



SPACE FOR ROUGH WORK / &= &/ % Tl wws

43_A] 7 (AN (Coned...



SPACE FOR ROUGH WORK /4= ¥ ¥ fird 7e

43_A]

o [ANTHIRRYA



